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111# 16,598 5,008 1,951 9,639 1,972 166 8.4 1,806 157 110 47 17 80.9 1.89
112#& 17,998 5,411 1,871 10,716 1,860 146 7.8 1,714 136 97 39 14 81.6 1.65
113# 18,474 5,650 2,053 10,771 2,020 218 10.8 1,802 202 154 48 13 82.7 1.89
RE 1,801 580 161 1,060 160 16 10.0 144 21 19 2 — 90.5 1.66
47 1,483 388 149 946 148 9 6.1 139 20 14 6 — 70.0 1.90
Hhi 1,797 462 192 1,143 194 22 11.3 172 14 11 3 2 92.9 2.02
6" 1,370 445 187 738 173 27 15.6 146 7 4 3 2 85.7 2.28
T2 1,543 491 190 862 207 22 10.6 185 14 12 2 2 100.0 2.01
87 1,640 585 198 857 194 19 9.8 175 22 18 4 1 86.4 1.66
g1 1,372 397 204 771 175 30 17.1 145 17 9 8 2 64.7 1.60
10 1,392 420 122 850 113 8 7.1 105 25 22 3 — 88.0 1.60
117 1,395 475 142 778 139 12 8.6 127 16 14 2 — 87.5 1.96
12 1,515 504 159 852 165 22 13.3 143 12 7 5 1 66.7 2.01
114#1-3% 4,335 1574 463 2,298 440 39 8.9 401 44 34 10 3 84.1 2.04
ST TL 127 61 92 -227 -141 -17.0 {03} -13.8 -200 -209 -16.7 — {05} 85
12 1,285 407 129 749 130 10 1.7 120 11 7 4 1 12.7 3.25
2" 1,437 570 162 705 153 17 11.1 136 20 15 5 2 85.0 1.67
3 1,613 597 172 844 157 12 7.6 145 13 12 1 — 92.3 1.37
B FHEY 12.2 4.7 6.2 19.7 26 -294 {-35} 6.6 -35.0 -20.0 -80.0 -100.0 {7.3} -17.7
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